
Parts List

Hardware

A
B
C
D
E
F

Top
Shelves
Bottom Shelf
Left Panel
Right Panel
Back Panel

1 pc.
4 pcs.
1 pc.
1 pc.
1 pc.
1 pc.

Page 1/2

Screw
JCA 1/4” x 32mm

31 pcs.
Allen wrench

1 pc.

Step 1:
Attach Left Panel (D) into the Back Panel (F) using 3 Screws as per diag.1.

Diagram 1.

Top

A

B

B

B

B

C

D
E

F

D

F

x 3

Anti-Tipping

Metal Plate
RF40214
2 pcs.

Screw P6 x 5/8”
RF10080
2 pcs.

Screw P6 x 1 1/4”
RF10103

2 pcs.

Assembly Instruction 
6 Shelf Bookcase



Page 2/2

Step 3:
Attach Right Panel (E) into the Back Panel (F). 
Then, �tting the Back Panel (F) 
into the Top Shelf (A)
using 4 Screws as per diag.3.

Diagram 2.

Step 4:
Repeat step2. Fitting the Right Panel (E) 
into each shelf using 12 Screws as per diag.4.

Diagram 3.

Diagram 4.

Step 2:
Attach Top (A), Shelves (B) 
and Bottom Shelf (C) i
nto the Left Panel (D) 
using  12 Screws as per diag.2.

x 12

B

B

B

B

C

D

A

F

B

B

B

B

A

CD

E

F

x 4

B

B

B

B

B

A

C

D x 12
Wall

RF10103

RF40214

RF10080

Anti-Tipping

Diagram 5.

To attach the shelf to the wall, 
attach Metal Plate (RF40214) 
by using screws P6x 5/8”(RF10080)
to attach top shelf to the studs
in the wall, using screws P6 x 1 1/4” 
(RF10103) as per Diag.5. 

A


